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No.® /NE 64 BFDE [ 2 km] No. NE6LF LZFDEP [ 2 km]
lEnz | & 8% | K & | PR B e | @& & | K % | PR B
1 6.50 HE BA (6) RS> =29 1 6.58 B 8T (6) ®mE35>1-X
2 6.51 e KA (6) | LEE 1.R.C 2 7.27 ZIEDSH (6) IRRC
3 7.06 | 2w X (6 AR5 =Y 3 7.27 HE BE (6) WAR5> =)
4 7.09 WME B|E (6) TSN~ 4 7.27 B & E (6) IJAC
5 7.09 BARK R& (6) ®mE51-X 5 7.31 WE INE (6) F=5
6 7.16 mAR BA (6) BEF-X 6 7.40 i FIFE (6) SakE L
7 7.16 HE BN (6) BEIF-X 7 7.44 Hwmig DF (6) F=5
8 7.17 & OBE—EB (6) I(RRC 8 7.49 H)l #EE (6) | dB¥E 1.R.C
9 7.18 FRIE—F (6) tIARE 9 7.51 W®IE R R (6) | dBEZ 1.R.C
10 | 7.20 WO K (6) L7/ 10 | 8.01 At kE (6) I(RRC
No.® /NESEF BFDE [ 2 km] No.@ /NESE LZFDEP [ 2 km]
lEnz | & 8% | K & | PR B lEnz | @ & | K % | PR B
1 7.14 =EH XE (5 R=F 1 7.24 &l =% (5) IJAC
2 7.17 “HEEZB (5) I1JAC 2 7.48 WA &5 (5 | d6E#Z 1.R.C
3 7.23 ®mI £ (5 TS0/ - 3 7.53 #Z) BF (5 F=5
4 7.29 | I HA (5 | ®WEI1TIEE 4 8.03 | & Bx (5 | Z:|UKD1zy
5 7.37 EE Bt (5 BEIF-X 5 8.09 T8 F8 (5 R=F
6 7.42 BHE K (5 I(RRC 6 8.14 A E (5 Ak -
7 7.42 5 = (5 BEIF-X 7 8.14 WO o (5) EEkEL
8 7.43 | ®m@m #E (5 I 8 8.17 K #8388 (5) 1JAC
9 7.44 £ W (5) | IIEVEIIERE 9 8.28 FHEHE (5) RLKS1ZT
10 7.45 = Bt (5) HUAT1ZT 10 8.33 R4 E (5) RHUAS1ZT
No.® /NEAFE BTBFOE [ 2 km] No.® NEAFE BTLFOEP [ 2 km]
lEnz | & 8% | K & | PR B lEnz | @ & | K % | PR B
1 7.11 AR BEZ (3) | k% I.R.C 1 7.47 Wik waxE 4) tIAREE L
2 7.15 = OB (4) WWPRS> =7 2 8.07 WA M (4) IJAC
3 7.31 BLE B/ (4) PB=5 3 8.08 HE BE (4) WERS> =Y
4 7.39 E@ ok (4) F=F 4 8.09 BR BSR4 mES-X
5 7.46 FE Kt @) RS> =>4 5 8.13 BE E& @) I1JAC
6 7.47 RKARES (4) tIARE - 6 8.15 WD E (4) =&

7 7.50 HEZN 4) P=5 7 8.16 #E =il (3) WERS> =Y
8 7.51 B B (3) | SAELEEFERED 8 8.21 HE AR (2 PR =Y
9 7.51 X H W3 @) IRRC 9 8.21 # £ % @) MFRS> =>4
10 7.52 BIHE BRE (4) SEEL 10 8.30 BEHERT (3) IRRC




No.@ = BFDE [ 5 km] No.® it€F BFOE [ 5 km]
Bz | 2 & | K & P B lEfr | #2 & | K % | mn =
1 | 16.14 | mLEtE—8 (3) FRRRFR 1 | 16.05 | % . B # | EELEEBS
2 | 16.31 | ®Kx mB#HE (3) FHENFR 2 | 16.26 | W O & m | SEIREAR
3 | 16.31 | #luzzn 3) BT 3 |17.04 | ® ® % z — BT
4 16,32 | mit 1B» (3) LR 4 1731 | w T = # REEE
5 | 17.05 | wmE X2 (2) FHEDFR 5 | 1744 | # B & £ |FHEORRHER
6 | 17.15 | &t & #Xx (3) |PWMELEDPER 6 | 17.57 | = & & E SREA
7 | 17.18 | ms Ems (2 B 7 | 18.06 | ®# Nl K # SEITUA
8 17.21 STHIZEKER (2) IJAC 8 18.39 F Al X B | BRPREER
9 | 1723 | # & (2 FRRRFR 9 | 1859 | &~ B — X SEEA
10 | 17.25 | ®@m ®m&E (2 RS 10 | 1928 | &= W B PIEREH
No.©® % ZFDE [ 3 km] No.l0 HH—fik ZFDEP [ 3 km]
lEz | @2 & | K % | FA = ez | @2 8% | K % | PR =
1 1040 | »& Am®E Q) AR 1 1028 | #= x# (2 YMC

2 10.43 EA FL (1) AREPER 2 10.33 BOHwH (2) {EEEAN

3 10.53 | wT #zx (2 HEP 3 10.55 5 A B Ik VBN
4 [ 11.01 | ® =#& (@@ R=pEh 4 | 1057 | & # & #% UBFEDRHRE
5 | 11.02 | #ABEF (1) RS RER 5 | 11.00 | "R E=m (2 ZAER
6 | 11.14 | wo =28 (1) R 6 | 11.09 | xswEx (1) a=betl

7 11,15 | B == () e st 7 1122 | 2% 8% ) FRESR
8 | 11.18 | & ®x# (1) SRR 8 | 11.36 | %k #HE (2 =yl

9 | 11.20 | wH#®E #%zx (2 BHEPFR 9 | 11.39 | a% %A ) FHEER
10 | 11.24 | wa ®% (2 it 10 | 12,16 | HB 5 (1) FHEER
No.@ =R BFD5EB [ 10 km] No®@ —h% SBFDEB [ 10 km]
lEnz | @ & | K % | FA = lEsr | @2 & | K % | PR B
1 | 30.32 | 5@ #& (3) BT 1 | 2942 | #59-319+ UBF MR
2 | 30.33 | ®mm m# (3) BT 2 | 3048 | £ M & & AT

3 30.39 | tR&Xx BEX (2) BT 3 31,13 | & 8 B B SUMCOERE
4 | 3045 | #@ =— (3) BT 4 | 31.37 | &4 x* = 7 UBF MR
5 | 3046 | mt @ (2) BifiT 5 | 31.38 | = B B 5 |EKkENTIHH
6 | 30,54 | wT = (2 | FEEEESK 6 | 3140 | = =# 5 UBER
7 | 30.57 | 7w &% (2 | PREEEEEK 7 | 3146 | = B &R & AT
8 | 31.21 | 8 ®m @3 BifiT 8 | 3155 | w 1 & = SRz
9 | 31.31 | 51 =t (2 BHETEER 9 | 32.15 | & ®m @& # | BHRDIRE4RH
10 | 31.42 EA B A (2 BT 10 | 32.22 m A F 5k SUMCOREE




ND /NG BIXnER [ 2 km] [ PN 6731”
W As-bEE 10110 [ 62 A 101 e A2 (gmrmi (5 3omAL]
IEfz| @& M| K 2 g IEfz| @ & M| K % B
1| 650 |16| # L+ BA (6) P52 32| 7.57 || m®E H (6 TS99 —
2| 6,51 |9| "®H "% (6 |dIEE I.R.C 33| 800 |26| #F 2K (6) Bk -
3| 7.06 [v7| = £ (6) s> 34| 803 |2t| #im E& (6) KNP/
4 7.00 |45 ME Z=E (6) ISy — 35| 8.06 |s8| @mmE =& (6) I({RRC
5| 7.0 |12] A =& (6) ‘/E>F-X 36| 8.07 |7| mm =¥ (6 eAINRRES
6 | 7.16 (13| =& BA (6) wmE-—X 37| 8.08 |=| mx —8 (6 Bk -
7| 7.16 14| #E & (6) wmESF-X 38| 8.10 |38| AmeExE (6) FHEBHRE
8 | 7.17 |s5| & s — 18 (o) IfRRC 39| 812 |z it $EE (6) Bk -
9| 7.18 |22 HIE—F# (6) BIARE 40| 8.13 |54| #wW A — (6) I(RRC
10| 7.20 |[31| wo xtw (6) LR/ 41| 8,13 |5 | msEzmZ (6) /R RS
11| 7.21 [#]| x&x 8@ (6) T59uN— 42| 822 |20| XAREE (6) 1Yo
12| 7.22 |33 &=@8 B#A (6) FHEBHRE 43| 825 || &% #H#E (6) LB/
13| 7.23 |5 R&E = (6) IRRC 4| 8.33 |52 B & (6) TS50
14| 7.27 |35 x5 m# (6) FHEBHRE 45| 8.34 30| mE ME (6) LB/
15| 7.28 || =@ ME (6 F=& 46 | 8.53 |4 BE®H &= (6) TSwoU)\—
16| 7.28 |3 | B EE (6) | ®BI1Z7EL 47 | 8.57 |29| ww #= 1@ (6) LB/
17| 7.29 || &8 %8B (6) |dEz I1.R.C 48| 9.00 |[s51| 1B Mm@ (6) TSwoU)\—
18| 7.33 || miMH BE®E (6) | dLikE 1.R.C 49| 901 | 8| B L mEE (6) AN RS
19| 7.38 | 2| R&x x& (6) | ®BI1Z7EL 50| 9.03 | 6| sHEAm (6) /R RS
20| 7.38 |3#| ®Bw BA (6) FHEBHRE 51| 9.18 |118| ® W & A (6) P> =Y
21 7,39 (15| NIl M= (6) BEF-X 52 936 [4]| & EEX (6) AN RS
22| 7.42 |eo| HE m=Z (6) IRRC 53 938 (#| wo @ (6 T3woUN—
23| 7.42 |et| &I HEE (6) IRRC 54
24| 7.43 |36| B Fth (6) FHEBHRE 55
25| 7.43 |43| A& B (6) TS99 — 56
26| 7.44 |27| wO &% (6) LB/ 57
27| 7.45 || K F & (6) RIS 1ZT 58
28| 7.49 |57 ZE BEF (6) I{RRC 59
29| 7.52 || B BK (6) BaEkE 60
30| 7.55 |4| 2+ = (6 TS99\ — 61
31| 7.56 |s3| mE x%E (6) TS99\ — 62




M@ INF B ZFDER [ 2 km] B K25 6"54"

W 25— M 10:10 [ 22 A IuM)-1] IWTFRER (&KRC) (% 44 8X%)
lEfz| & [m| K % B IEfz| & & [ m| K % B

1| 6.58 (43| tE BMF (6) ‘/E51-X 12| 8.10 |470| ®w F F (6) IJAC

2 7.27 472 I EH & (6) IRRC 13| 8.13 (462 =8 w5 (6) LLRE/

3 | 7.27 |48| HE EE (6) WS> =Y 14| 8,18 |[459| ®OKKE (6) IS
4 | 7.27 |40 B & E (6) 1JAC 15| 8.22 |44| IO s (6) | ®EF-X
5| 7.31 [466] ®E NT (6) F=F 16 | 8.38 |468| xR = (6) I(RRC

6 | 7.40 |461| W T FEE (6) HHEkEL 17| 8.46 |47 # £ =& (6) )
7 7.44 |4aes| #@AT N F (6) F=&F 18| 9.06 |464| WTFERZE (6) LR/

8 | 7.49 |41 H I #&F (6) | LEZE I.R.C 19| 9.08 |463| 2 Em (6) AR/

9 | 7.51 (42| ®Im F &\ (6) |IEE I.R.C 20| 9.12 |460| it f—E (6) | T EHITHFT
10 | 8.01 (467 =#d KF (6) I(KRC 21| 924 |41 wo ®E (6) I1JAC
11| 8.02 |45| a® B8 (6) | ®WEFX 22
No® /NESEE BF0DER [ 2 km] m K25 6"56"

B 25— M%) 10:25 [ 47 A IUM)-) RO X= (L ZIRC) (% 4548%% ]
IEfz| & % [ m| K e B IEfz| & % [ m| K =2 B

1| 7.14 |[o| 58 X5 (5 R=F 24| 8,23 (76| x@E ME (5 | ®ES1=7BEL
2 7.17 |10 #&m@EEZB (5 I1JAC 25| 8.25 |s| s B3 (5 KN

3| 7.23 |92 &1 £ (5 JTSvIu)N— 26| 826 |01 wo ®w#H (5) I1JAC

4 | 7.29 | 74| ®I mwA (5 | BEIIZFEL 27 | 8.26 | 72| Bl KX (5) | IZfEEIFERED
5 7.37 || B 88 (5 BES>F-X 28 8.26 |71 B F KB (5) | IZELEEFEKE
6 | 7.42 || @E /A (5 IMRRC 29 | 8.27 |w95| BE H1E (5 HBAIINER
7| 7.42 |19 EE =A (5 ®/E52F-X 30| 8.28 |75| #aG Hm (5 | wEIS1Z7EL
8 | 7.43 |w7| wm EE (5 ABH AR 31| 831 || B&E x4& (5 AR INFAR
9 7.44 | 73| 2R & (5 I EEBFERED 32| 833 (193] WTFT E=X (5 FERVNERR
10| 7.45 |so| =\ %t (5 RLKT1ZT 33| 841 |s4| I BmR (5 BaEkE
11| 7.46 |04 B E B (5) IRRC 34| 846 || &mI #HI® (5) TSvHUN—~
12| 7.49 |[w3| &m& €M (5 IRRC 35| 849 (87| x= BE (5 SR
13| 7.50 |[w7| WwTF @K (5) IRRC 36 | 8.53 |w6| mABEL (5) IRRC
14| 7,51 |s| sthE ME (5 R=& 37| 9.01 || vE % (5 TS59u)0—
15| 7.52 |9| & #WEB (5 I(RRC 38| 9.07 |ss| B A& (5 /RS
16 /.55 (| =L & (5 TSvouI— 39| 9.07 |w8|] m® mE (5 ARV
17| 7.55 |[s1| # R B (5 KNP/ 40| 9,19 |7 2l FF (5) WES1=FRE L
18| /.57 || #RE &K (5 IS9u)N— 41| 920 |8| EO =Xk (5 e
19| 8.05 |[t2| B &A@ (5 HRAV VAR 42| 922 |ea| BmXK BA (5 /RS
20| 8.07 |s3 HOBE (5) AR E 43| 924 |63| wm@ ¥ (5 It/ RS
21| 8.10 |2 =@ #WHE (5 IRRC 44| 925 || # Lt xB (5 T59HU)0—
22| 8.12 || @B =& (5 sk L 45| 928 |o7| @ ®H (5 TS0/t~
23| 8.19 | WA #ME (5) F=F 46 | 9,34 |196| HWHZEXE (5) AV NERR
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No.@ /NS EE ZFDER [ 2 km] B K255 7727"
B 25— M 10:25 [ 24 X\ 1uM)-] S FEDH (IRRC) CRYES D
IEfz| @& M| K % R IEfz | @& M| K & R
1| 7.24 |[s02| &1 =B (5) IJAC 13| 8.50 (43| "B BTm® (5 | ®BT1i=7EL
2 | 7.48 |48 M A =5 (5 |4EZ I.R.C 14 | 9,00 (497 HE F2 (5) F=5
3| 7.53 |49 m EF (5 F=F 15| 9,01 |485| =H®BEZE (5 | ®EI1ZVEL
4 8.03 |47 8K B ZE (5 BT 16 | 9.22 |s00| =B ZFH (5) IfRRC
5| 809 |48 58 F8 (5 B=& 17| 9,33 [484 hE = (5) WES1Z7RELE
6 | 814 |43 w o & (5 HEEL 18 | 9.36 |[481| REZFEEZXF (5 | ®BZ1—7EL
7 8.14 |44 w o # (5 S L 19
8 8.17 |so1| X %3 (5) I1JAC 20
9 | 8.28 |49 FHEXR#H=E (5 HURT1ZT 21
10| 8,33 |40 ®#wm@mEBELE (5) BT 1ZT 22
11| 8.37 488 #o£ ZE (5 BT 1=7 23
12| 8.45 |ss0| & @ F (5 HREVINFRR 24
N® INEAELL T TFOE [ 2 km) B X2EH 7"50"
B 25— MEFE 10:40 [ 43 X 1uM)-] BN EKE 4)  (1JAC) ERIESD
IEfz| @& M| K 2 g IEfz| @& M| K 2 g
1| 7.47 |30 Wik mE 4 BIARE & 23| 9.27 |s¢| k0 B R (4 IJAC
2 | 807 |54 wm =#m 4 IJAC 24| 946 |57 2 EE<(5 (2 B=5
3| 808 |s15] #E BxE @) RS> =Y 25| 9,50 |s35| s FE (3) F=&
4 8.00 |s14| AR HH 4) BE>F-X 26| 9,52 (51| #E@AFED @) | KESIZTFELE
5| 813 || B E&F 4 IJAC 27 | 10.08 |547| xm@ &7 (2 IRRC
6 | 8.15 |[533| h#cwzE 4) = 28 | 10.25 [520 = OOE (1) MRS~ =>4
7| 8.16 |59 #E BM (3) RS> =Y 29 | 10.33 |520| B B (3) MFRS> =Y
8 | 821 |56 H Lt FifE (2) MERS> =>4 30| 10.39 |58 dhiuwEBE (1) WERS>=>Y
9 [ 821 [517] # £ 8 @) RS> =Y 31 10.58 [523| #+t BE (3) MFRS> =Y
10| 8.30 [« EmERF (3) IRRC 321 11.09 |54 3 =t ) WMER5> =>4
11| 8.32 |s48| ww O & (3) IRRC 33 (11.17 (521 21 # (3) RS> =Y
12| 8.37 |s46| A £z (2) IRRC 34
13| 8.45 |55 # £t #®& (2 RS> =>7 35
14| 8.51 |s40| #%* = & (4) IJAC 36
15| 8.53 |53 s B (4) BES>F-X 37
16 | 8.58 |[s16] # L&<5 (4 L) 38
17| 8.58 |5 mE #%F 4) P=F 39
18| 8.58 |[s512| n® £ (4) | WBEZ1T7REL 40
19| 8 58 |[532| @B EE (4) Sk 41
20| 9.14 |527| B BmE (2) MER5> =>4 42
21| 9.14 |55 BHR Fiz (2 IRRC 43
22| 924 |31 k@B BE 4) BEEL xa# /.47 530 Wik E£EFE (4) tNARELE
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m® NFAFLL T BFOHM [ 2 km] mxsEHR 7711
B 25— MR 10:40 [ 86 A IM)-1] He KF (#7552 JAC) (% 28X%)
Iehr| @& | w| K % il lehr| @& | w| K & il
1| 7.11 |23 &8 = (3) | dLEZ I.R.C 44| 9.03 |wo| R 58 (@ F=5
2 | 7.15 |w2¢] =1 Ccm @ AR5 =Y 45| 9,04 || ®=H @m®B (3) | TEhocs57
3 | 7.31 |[15| &L B (4) P=5& 46 | 9,05 |w3| wmE —® (4) TS50/ 0~
4 | 7.39 |19 £ K- (4) P=5& 47 | 9.06 |132| HE £ (2) WS> =2
5| 7.46 |16 H L Kt (4) ) 48| 9.06 |10 B+ EwH 3) IRRC
6 | 7.47 |12 RAKREL 4) AR £ 49 | 9,07 |120] A& FB 4) | WES1TTEE
7 | 7.50 |[12| zEEZN 4) P=5F 50 | 9.08 |w0| L WA (2) | #EAZIZY
8 | 7.51 |14 JIIEA BEX (3) B EEFERED 51| 9,19 |8 hE AH (4) EEME L
9 | 7.51 |w187| ,@B #m¥ @) IRRC 52| 9.24 |67 K f— (2) F=F
10| 7.52 |ws| AiE K& 4) B - 53| 9.31 |w4| mEm %= (1) P=5
11| /7,55 |[18| W F S (4 IJAC 54| 933 || x8 & 4 TS~
12| 8.00 |[78| m@ R4E (4) IfRRC 55| 9.34 (76| i R®E (3) TSwh =
13| 8.02 |[13] A A ) EDAPE - 56 | 9.34 || R BL @) | ®EI1TFEE
14 | 8.12 |39 ®H@KE (4) | TEMITH5T 57| 9.35 |35 v E (1) WSS =Y
15| 8.12 |[w28| A B KX (4) PS> =2 58| 9.36 |27 # Lt =zt @ P> =2
16 | 8.15 |[172| BR#H—8 (4) T3vIUN— 590 | 9.47 |wi| »m mtw @) FRAIVINEAT
17| 8.16 |[wo| ## Mm% (3) Bk 60| 9.49 |wi| NE % @) F=&
18| 8.16 |w16| ## xth (4) HEEL 61| 9.49 |is5| ZEZZN (4) IAKRC
19| 819 (75| BRE A= (3) TSvHUN— 62| 952 |77 Bm&x BB (1) ISy —
20| 8.19 |w10o| AW BA (4) I{RRC 63| 954 |e7| #HE X (4) L5 RS
21| 8.25 |11 &5I8E 4) IfRRC 64| 955 |14| = & (1) RS> =Y
22| 8.26 |14| @@ = A (4) IfRRC 65| 10.00 |ec| mAO A @ 5N RS
23| 8.29 |157| MR BB4E 4) | FHREENS 66 | 10.07 |10| A& #Z (4) | 7TLros57
24 | 8.29 |10 ME H#H (2) P=& 67 | 10.08 |179| &4 (@) I{KRC
25| 8,33 |u3| @A & (4 SITEAMERERED 68| 10.18 |13| # L B L (2 WS> =Y
26 | 8.35 |16 WA HE (4 LR/ 69| 10.24 |31 # L+ mAh @ | wFs>=y
27| 8.37 || 8% A 4 B 70| 10.36 |12 = w = @ I{KRC
28| 8.41 |125] BR 2# (4 ) 71| 10.42 |w08| WO Rit (4) HSE/
29| 8.44 |uo| MR HWA (3) | BBI1ZFEL 721 10.43 |e8| A w2 (3) | dtmiues
30| 846 |14 hE =& (3) LLARER/N 731 10.44 |153] mE m= (3) LB/
31| 8.48 |136| A && (3) | =UAT1ZF 74 | 10.51 |122| ®t&%x &8 3) | ®wBs1=7EL
32| 849 || # W E @ I599U)%— 75| 10.58 |138| =#m HE (3) I\
33| 8.50 |is8| thm BHE 4) P=& 76 | 11.02 | 70| @ EAEBQ) | dsisks
34| 8.50 |6 Z4 EK (3) P=& 77 1 11.04 |0 mm E= (1) F=E
35| 8.51 || BIs BA (1) EIARE £ 78 11.10 |eo| T £ 8 (2 | HnmEs
36| 8.52 18| B B & (2 P=& 79
37| 8.56 || BH  E (4 B=& 80
38| 8.59 |151| ®E BE (4 LHRERN 81
39| 9,00 [u6| #BE TL (2) | SAELEILRE 82
40| 9,00 |12t 2t BE (4) | BB 1Z7REL 83
41 | 9.00 (0| @l =B (3) IRRC 84
42| 9,01 |10 =2 ® (3) EabE b 85
43 | 9,02 |[55| @& B (2) LLHRERN 251 7.11 22 FA B Q) JES IRC




N@ BF0E [ 5 km] B K2 15727"
[ RN 37 11:00 [ 96 A IVM)-) Bl BH (ER) (% 308%2 ]
JEfz| =% || K % = BRI | @B || K % =
16.14 |26 M EE—B (3) FREHRER 41 | 18.42 |221| x&® H A (1) BERR TSR
2 | 16.31 |57 & B#HE (3) RRBRSR 42| 18.53 |0| WO B% (2) FEEFRSAR
3 |16.31 [280| ®llZZN (3) Bah 43| 18.57 |2s4| wofEsmes (1) RRBRER
4 | 16.32 |281| m s+ 15 (3) g 44 | 18.58 |296| w4t BEIR (1) B
5| 17.05 |28 wg X2 (2) | FRERFER 45 | 18,59 |202| BAKZEE (2) HaEh
6 | 17.15 |226| &t 5 #x (3) |=mmEEher| | 46| 19.06 |264| 58O KX — (1) FEEFRSAR
7 | 17.18 (58| B B8 (2) IERF AR 47 | 19.08 |212| =@ Xx#E (1) AP
8 | 17.21 [216| STEHIZKE (2) JAC 48| 19,11 |220| At fEAx (2) B REEAR
9 | 17.23 |25t # B @ (2) FRRRFR 49 | 19.12 [236| = #m1E (2) AERIPE £
10| 17.25 |204| st T4 (2) IRAPFER 50| 19.14 |278] wo #\@Ax (1) il /N/P)
11 | 17.25 |240| & & # =t (2) | 46K 1.R.C 51| 19,19 [229| =28 <& (2 ERER
12 | 17.27 |291] B MF (2 St 52 (19,19 (250 W& =7 (2) FFRBEHRER
13| 17.30 |234| ® =mx (3) W = 53| 19.21 || @ #mHt (1) Lipgeh
14| 17.30 |259| A X (2 BT hERL 54 19,38 [271] & #HH (2) il /N/P)
15[ 17.32 [283| 2% @2 (2 Lifkep 55| 19.44 |3 & % & (1) RRBRER
16 | 17.32 237 # £ ® () BEFIREEE 56 | 19.46 [266| & E— (2) T EMNFocH5T
17| 17.36 |210| 88 <& (1) RS 57| 19.47 |205| wno smw (1) Ly
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